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Warm - up

Find the zeros by factoring. CGheclbygraphing-theinterceptform
aRe-the-staRdaratorR-o-oach-relaton.

a) y=x>+10x + 16 b) y =x>— 2x— 35

Given each quadratic relation in vertex form, express the relation in
standard form and in intercept form.

grophingellthreeforms. Factored form
a)y=(x+5)7—4 b) y = (x — 3)*— 36

PROBLEM SOLVING

USING ZEROS AND OTHER
PARTS OF THE PARABOLA
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1. A ball is thrown upwards. Its height is described by
the equation h=-21° + 10t + 12, where h is in meters

and T is in seconds.

a. How high is the ball when it was thrown? |
What part of the parabola do you need? Y- int

t=0 %erZ/ﬁr

h=-2(0) 40 )12 _
—_2(°)+lo(o)+I2 Ame
= +0 +lL |
= /2-0 inihal h@/'g/ﬁ s I/m

b. When does the ball hit the ground?
What part of the parabola do we need? Z ¢/ 0S

O =24 + (ot * 12

AN
O;/Z(i'G)(tJf ’)
. ™~
= t+1 =0
tTEC € -]
N
+he ball NGRS madiSS@H@

ound at ©6SeC. coan T |
The 3o back ,ﬁfﬁmC
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c. When is the ball at its highest?
What part of the parabola do we need? &/~ t&)%
: X
25 %)

Hrs of Sﬁmmcﬁg%
6+ (1)

* 75
= +he ba/% ¥ Q/j ¢

d. How high is the ball at 2 seconds? = .2 A= 7

h = 12(2>L¢/0/2)+/1

:12(%>+{o(2>f/L j@
-8 + 20 «+ /2 :

= 249 24 m
e. When is the ball at 20 meter high?
h =20

20 @ )
o0 =-2t +lot +12 ‘
—20 to make left side 1 ,

Zero 2.5

I

O = 72f2%/0f ’ﬁ/z /QO
o =-2t 40t &

0 = 2({ f©t+#)

oj/Z(i* )(f*”
. 4- 4 =0
f{/ /O ¢t =7

e ball u af a //?@%JLJ]K
20’“ aF 1 sec sec




3C -5 -day 7 - Word Problems.notebook

2. Onplanet X, the height , h meters, of an object
fired upward from the ground at 48 m/s is
described by the equation h = -161° + 48f where t
seconds is the time since the object was fired.

a. What is the maximum height?
What part of the parabola do you need? vertex

| Fnd 2es0S . h=0 )

o ADS 0 =-l6t *48t
3. Verfex 0 :~/6(ﬁ)(ﬁ3>

e L
- -3-=0
+ =0 + 725

2 A0S S A0S t =15
4+ o= O;f \/@m"fx((,5) &)
4 =15 A = //6(/5) +784§>

=36

,%rﬁ/ﬁes% heihid (s 36 mefers

b. When does the object hit the ground?
What part of the parabola do you need? 2 ¢4 05

Lrom @, 2ero0s are O and 3
object huts gmma( ot 32 sec
t =0 = lawnch of the object

¢. When is the object 32 m above the ground?

36
22 =6t +H8t 32

O =—(p4 +48t -32
0 :lfé(tlgﬁt +l)
o —-16(t=2)t = 1)

)

+-2=0 +t-1=0
+ =2 =
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On the Boards...

A baseball is thrown from the top of a building and falls to the ground below. Its
path is approximated by the selation 4 = —5# + 5¢ + 30, where A is the height
above ground in mecres and s the elapsed time in seconds.

(a) How tall is the building? +t =0 f’\ =30
(b) When will the ball hic the ground?

(c) When does the ball reach its maximum height? .
(d) How high above the building is the ball at its maximum height?

b, A=-5t +5t+30
- st t-6)

>~a%*3%%£%>

4=3 42
at 3

secC

. Aos 3+(2_, ¢
2

oy vertex (05/ ﬁ)
_ 45/0/57)1+ gl/ﬁ,gjij

% =
M Q& X %g( + IS SKZSM

Homework / Seatwork

pge 282 # 2, 5ace, 7-12
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